PAC 1.z

F1TLVA1—1Zvy b €E&EXE

BT DY A XDS Part No. ZREA TLIEE L,

A AR 21— =y TR Rotis2fl ELV % (BB 50mm DB
ABHTSTFYDY1—1ZwheLT 2= =~ PAC IHEEED
HFESNICHDTY, ' Part No. ccism<rean,
EB fm & R 7 =
® F—JIVAEE SS400
@ AFARTL—h #2000
® MASARY—IL NBR+SPCC
@ SAEIARILE SCM435
ﬁ R ® AEES RIS SCM435
® | ZFVLTTyix SCM435
O OF TSTVDHESTHFEDY n, AN—T—EULTHAATERXT, @ | *o—NBHxS SCM435
© SBEN(CIATHEERE SN A 1 LA #2000 ZERLTLET . Q=27 S15CC-PT1/S)
0 254 RY—)LERSA RTLU—NCEUTF BIEEDT=. B HEELD A7VTEY S60CM

154 HD—)D%H%G)TJTBDL;EED‘ED%@/UO #*PAC30-90 '3"(77:(;{254!*°/—Jb<‘:°/—)bﬂi1ﬂ'*°/7)‘5")i'li'/z,o

O S EHEIZX0.25mm~*£0.7mm £THEETI,

W=30.40.50.60.75 | W=100.125.150 |

92 41 D _f2 21 _ D
[
7es) e J 7N ’ v
- SE S — ] e e
=
Part No. EEEER BEERS BEEEE SHEREGED HEERSH
% (mm) (mm) (cm?) (N/2pc) {kgf/2pc} (kN) {ton} %
R PAC30-90 +0.25 55 16.5 6,470{ 660} 830L1F [ 854 =
% PAC40-100 +0.35 55 22 8,630 880} 830~ 980 85~ 100} 7
% PAC50-150 +0.35 100 50 19,600 { 2,000} 980~ 2,450 {100~ 250} %
PAC60-160 +0.35 110 66 25,900 | 2,640} 2,450~ 3,920 {250~ 400}
PAC75-180 +0.35 130 97.5 38,200 { 3,900} 3,920~ 5,880 {400~ 600}
PAC100-250 +0.7 250 250 98,100 {10,000} 5,880~ 7,850 {600~ 800}
PAC125-250 +0.7 250 312.5 122,600 {12,500} 7,840~12,750 {800~1,300}
PAC150-300 +0.7 300 450 176,500 {18,000} 15,690 L1 F { 1,600 LU F}
GE1) SEFESHEES 1.96N/mm? [20kgf/cm? LTS ELTHIET,
W SR DOERGI

—_—
FAUVAYa-1=vh
PAC

B | &S | &S BRIV

01|02 83| h1 | h2| d @ ®

Part No.

O
=
5
=

PAC30-90 30 | 80/ 30 |(
PAC40-100 | 40 | 90| 40 |(
PAC50-150 | 50 [140| 45 |(M

= =
D
L2 |2

15 165 |13 | 25 | 30 | 55/20.5| 7.5 | 4.5 | M 8X25|M 6X35
25| 8 |13 |35 | 15| 55|235| 18 M10X30| M 6x40
30 | 15|16 | 65| 20 |[100/28 | 20 M12X35| M 850

o |01 o1

PAC60-160 | 60 [150| 50 |(M10)[ 35 | 20 | 17 | 70 | 20 {11032 | 20 M12%35| M 8X50
PAC75-180 | 75 |170| 50 |(M10)| 45 | 25 | 17 | 85 | 25 [130(33 | 20 | 6 |M12x35|M 8x50
PAC100-250|100|250| 60 |(M12)] 60 | — | 25 [120| 20 {20043 | 20 | 10 |M16x40|{M10X70
PAC125-250| 125|250 60 |(M12)| 80 | — | 30 [120| 20 {20043 | 20 | 10 |M16X40|M10X70
PAC150-300| 150|300 70 |(M16)[100| — | 40 [120| 40 [250|50 | 20 | 10 |M20x40|M12X70
J \ )

241 242



